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ModuleHisto
0.2F ANAZZTXSE : 175
o205
0.16:_ _mSV = 0.00906:

0.14F
0.12F

0.1F
0.08 s
0.06
0.04
0.02 L_200 = 0.0514

0 n T n T n N 1 N 1 N 1 N 1 N
0 50 100 150 200 250 300 350 400

Fiber Average

0.2

0.18

0.16

0.14

0.12

0.1

0.08

0.06

0.04

FiberHisto
Nent = 533

L_200 F= 0.0524

Mean x = 190.3
Mean y = 0.05436
RMS x = 77.56

RMS v _=.0.00906

0.02
0 n Y n Y n L 1 L 1 L 1 L 1 L
0 50 100 150 200 250 300 350 400
20 pc Deviants D20pc
Nent=1
a 1+ _ Mean = 15
£ RMS = -0
= L
o L
#* -
0.8
0.6~
0.4~
0.2
N N EAN I ] RN I B
0 5 10 15 20 25
Strip ID

Mon Jul 29 09:10:02 2002

L200 per strip

L200s
Nent = 16

2 5'_ Mean =0.05143
£ L RMS = 0.005682
A L
HH -
| .
s
ar
1=
ol vt 1 Ly
0 0.02 0.04 0.06 0.08 0.1 0.12
L200
[ L200 Fiber per strip | 2007s
Nent = 16
2 5'_ Mean =0.05145
£ L RMS = 0.006298
) -
H* -
-
s
r
1=
| P IR B | | [
0 0.02 0.04 0.06 0.08 0.1 0.1
L200F
30 pc Deviants D30pc
Nent = 0
2] 1 Mean = 0
£ | RMS = 0
o
o -
L
0.5~
0
-0.5[—
e T R S B SR B
0 5 10 15 20 25
Strip ID

L200 vs Strip

L200Strip
Nent = 16
80'12_ Mean x = 85
N - Mean y = 0.05143
- RMSx = 4.61
0.1~ RMS y_=0.00568
0.08—
0.6~ o®¢q . .
booeennns o0y - @ e
C ¢ o,
0.041-9® °
0.02—
) I I I I R B
0 5 10 15 20 25 .
Strip ID
L200 Fiber vs Strip ] L200FStrip
Nent = 16
%0'12_ Mean x = 85
Q - Mean y = 0.05145
- - RMSx = 4.61
01 RMSy_=0.,00629
0.08[—
o6 wiw " w
procmmmmes | '.'-"'.. """""""""""""""""""""
Cm “um
0.04 |
0.02[—
) I I PR S EFEEI R
0 5 10 15 20

25
Strip ID

o Data/Fit
; S
s
=
I

H
1S}
a

I

0.1~

0.095[—

0.09—

0.085[—

0.08[—

50

100

150

200

250

300
Distance (cm)



Integral pe

Integral pe

Integral pe

Argonne Scan anl0326Nv on 20020208 with CF ID = 14

.

o
[
N

o
-

o
o
]

o
o
=

o
o
o

o

o
o
° >
III|III|III|III|III|III|III

50 100

i

150

200 250 00 350
Distance (cm)

o
© N
[ N

o
o
]

/

o
o
=

o
o
o

o

o
o
° >
III|III|III|III|III|III|III

a
o

100

i

150

200 250 0 50
Distance (cm)

o
[
N

o
[

o
o
©

o
o
=

o
o
o

o

o
o
° 5
III|III|III|III|III|III|III
I
h
[

50 100

Mon Jul 29 09:10:00 2002

150

200 250

0 350
Distance (cm)

Integral pe

Integral pe

Integral pe

©
© I
[ N

o©
o
o

I o
o o
N i

o

o
o
o (o]
III|III|III|III|III|III|III
[

o o o o o
o =} =} o © e
N B (&} @ - N

o

<)
III|III|III|III|III|III|III

o o o o o
o =} o o o [N
N B (o)) (s3] - N

o

o
III|III|III|III|III|III|III

i

/

50 100 150

i

200 250 00 350
Distance (cm)

|

3]
o

100 150

i

200 250 0 50
Distance (cm)

(

50 100 150

200 250 0 350
Distance (cm)



Integral pe

Integral pe

Integral pe

Argonne Scan anl0326Nv on 20020208 with CF ID = 14

i

8 '
= ® =
- a -
- = -
0.12— > 0.12—
- g -
- E -
0.1 — 0.1 —
0.08[— 0.08[—
0.06[— = - _ . 0.06— T =
0.04— 0.04— -
0.02 — 0.02 —
o L 1 L 1 1 L 1 L 1 L 1 L 1 ot L 1 L 1 L 1 1 1 1 L 1
0 50 100 150 200 250 00 350 0 50 100 150 200 250 00 350
Distance (cm) Distance (cm)
9 i 10 '
= ® =
— (=% —
- = -
0.12— > 0.12—
- 8 -
C £ C
0.1 — . 0.1 — .
0.08 — 0.08 —
0.06— —— 0.06— == = - _
0047~ - 0.04— -
0.02 — 0.02 —
0 C L 1 L 1 1 L 1 L 1 L 1 L 1 0 C L 1 L 1 L 1 1 1 1 L 1
0 50 100 150 200 250 0 50 0 50 100 150 200 250 0 50
Distance (cm) Distance (cm)
11 ' 12 '
= ° =
— (=X —
- = -
0.12— > 0.12—
- 8 -
C £ C
0.1 — 0.1 —
0.08 — 0.08 —
C —~— C
0.06— _ 0.06— ~—— _
0.04— - 0.04— -
0.02 — 0.02 —
o L 1 L 1 1 L 1 L 1 L 1 L 1 o= L 1 L 1 L 1 1 1 1 L 1
0 50 100 150 200 250 0 50 100 150 200 250

0 350
Distance (cm)

0 350
Distance (cm)



0.12

Integral pe

0.1

0.08

0.06

0.04

0.02

0.12

Integral pe

0.1

0.08

0.06

0.04

0.02

Integral pe
o o o o o
o =) o o o i
N B (o2} @ - N

o

o

Argonne Scan anl0326Nv on 20020208 with CF ID = 14

(

a
o

100 150

200 250 00 350
Distance (cm)

o

a
o

100 150

200 250 0 50
Distance (cm)

o
III|III|III|III|III|III|III

50 100 150

Mon Jul 29 09:10:01 2002

200 250

0 350
Distance (cm)

Integral pe

_"""""""""""""':J

Integral pe

N

0.12

0.1

0.08

0.06

0.04

0.02

/’

o

3]
o

100 150

200 250

00 350
Distance (cm)

0.12

0.1

0.08

0.06

0.04

0.02

o

3]
o

100 150

200 250

300

50
Distance (cm)

ModuleHisto_pfx
Nent = 419

0.04—

0.03—

0.02—

0.01—

T———i

Mean = 176

RMS = 78.19

L_200 = 0.051

50

100 150

200

250 300

350 400




Argonne LI Scan for anl0326Nv

" I ) =
L =i C
5 o | i ] <160
5 F c F
L S C
w - ©140—
ch> 5 © OF
s Q E
g - 55120—_
8 4 £, | F1 Gain |
3 L B 100
= _ C
3 80—
- 60—
21— C
- 40
11— C
C 20—
0_|\|/|\|/|\|/|\|/|\|/|\|/|\|/|\|/|\|/|\|/|\|/|\|/|\|/|\|/|\|/|\|/|| O_|\|/|\|/|\|/|\|/|\|/|\|/|\|/|\|/|\|/|\|/|\|/|\|/|\|/|\|/|\|/|\|/||
0 2 4 6 8 10 12 14 16 0 2 4 6 8 10 12 14 16
Channel Number Channel Number
%) — ra :
[ - a -
g 6— 21607
& [ S E
S s 140
5] C 8 -
3 4 s F F2 Gain |
° C T 100—
) r o -
= - C
3 80—
- 60—
2= C
- a0F-
1 C
C 20—
O_IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII O_IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
0 2 4 6 8 10 12 14 16 0 2 4 6 8 10 12 14 16
Channel Number Channel Number

Mon Jul 29 09:09:33 2002



